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QUESTION 1

Which of the following storage nodes will configure an SSD as a read cache by default: (multiple choice)
A. P12

B. P25

C.C36

D.C72

Correct Answer: AB

QUESTION 2

In the Huawei HyerMetro active-active solution, when the active-active data center link fails, it will enter the "waiting for
synchronization” state.

To quickly restore services, you can choose to force start the local storage system or the remote storage system to
continue to provide services for the host. At this time, the active- active business status Will enter "normal”.

A. True
B. False

Correct Answer: B

QUESTION 3

Which of the following types of nodes provided by Huawei Oceanstor 9000 include? (Multiple choices)
A. High-performance storage nodes

B. Large-capacity archive node

C. Data storage node

D. Data processing node Answer

Correct Answer: AB

QUESTION 4

H13-624 PDF Dumps | H13-624 Practice Test | H13-624 Exam Questions 2/3


https://www.geekcert.com/h13-624.html
https://www.geekcert.com/h13-624.html
https://www.geekcert.com/h13-624.html

VCE & PDF https://lwww.geekcert.com/h13-624.html
2024 Latest geekcert H13-624 PDF and VCE dumps Download

GeekCert.com

The following are unstructured data applications: single selection
A. Enterprise ERP

B. Medical HIS database

C. Educational video on demand

D. Enterprise financial system

Correct Answer: C

QUESTION 5

In the VMware environment, the single-choice scenario where VADP cannot be used for backup is: A. Thick Disk
B. Thin Disk

C. The storage is directly connected to the virtual machine

D. VMDK

Correct Answer: C
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